DOUIP TANIR W - 2 3712V A7

J,nup AR — Ek

m*\V?2

Fk = kg ,na1 5w mon - m

2 m/s 1 M V

AT W DO0PT AR IR awn . 20m/s b mvana va 2kg nonw a1

AT W DO0eRT AR IR awn 40kg 70 bw aon . 15m/san ow mvnn .2

A7 9w 07 2w .Am/S 9an moan .48 1 5w noup IR .3

2wn .15m/s 5w mvan? yoaay 10m/s Hw navana v onnn 2kg nonw A 4
JTANIRT W AW LR1°02) IYINT NYOINA Q1A PW DOV AR

AT W DOVIPT TPANIRT IR 2w .8m/s Hw mana va 15kg nonw .5

AT 2w NP IR R awn . 100kg 7an Sw non 25mYs i hw nn .6

A7 2w 307 2w 5m/s 7137 moan 753 913 Dw nourp AR L7

TOAIR 2wn 5m/s Sw man v Im/s Hw mnna v nnn 12kg nonw i .8
JPAIRT W AW AP0 AYIANT NN QAT W NP

AT W DO0PT ARG IR awn . 10m/s b mvana v1 6kg nonw .9

AT W DP0Ra AR IR awn 40kg 70w on . 15m/s i ow mvan (10

137 5w 7on awn . 10m/s 910 mvan 500 713 b povrp R 11

2wn .2m/s Sw meank o) 10m/s S mnvana yiab Snnn 10kg wnonw ane .12
JPANIRT W 2WN N1 AYIANT NN 1A DW NP AN

AT W DVRE ARG DR awn . 18Kkm/h mvina va 40kg anonw qa .13

AT W NP01R AR IR awn . 70kg 7w aon 9km/h quiahw min .14

AT MR awn . 2kgiaa oW non .100J 733 Bw nowp AR 15

2wn .50m/s 5w man? 3oaay 10m/s Hw ninvana viab onnn 50kg wnonw qa .16
JPANIRT W 2WN N1 AYIANT NN IAT DW NP AR

AT W DOVRE ARG DR awn .36km/h mavnna va 30kg wnonw qn .17

AT W NOVPR ARG DR awn .100kg M Sw non 18km/h i hw man .18

AT W DOVR ARG DR awn . 72km/h mvnna v 10kg wnonw i .19



